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space provided for the purpose, in the OMR Answer Sheet.

. Enter the name of the Subject, Reg. No., Question Booklet version code and affix

Signature on the OMR sheet. As the answer sheets are designed to suit the Optical

Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

. This Question Booklet contains 70 questions carrying equal marks. All questions must

be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

. All the answers should be marked only on the OMR sheet provided and only with a

black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

. Questions are in both English and Kannada. If any confusion arises in the Kannada

version, please refer to the English version of the questions.

. Immediately after the final bell indicating the closure of the examination. stop making

any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet

is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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1. Climate change means
a) Change in local weather conditions
b) Change in day to day weather

|
c) Change in global or regional weather patterns
d) Change in rainfall pattern
BIOTID a? TOES, Q0BT

a) FYeodd armﬁ WORSNTY, wroess
b) @533 (@] Sﬁ:‘mdds wcfmszra

S I e R p—— INTONYS LBCITE
d) So¥icd IRTO0DHO LTCHTE

2. According to National Forest Policy, 1952, should be the percentage
of forest cover in India.
a) 22% b) 33.3% c) 50% d) 25%
T840 509, Qe3, 1952 T 58, RT3, Je. R, Ty, W, BeBITWR ?
a) 22% b) 33.3% c) 50% d) 25%
3. Quinine is obtained from which plant ?
a) Coconut b) Cinchona c) Eucalyptus d) Pongamia
zﬁ's‘ e:as_gL CIRT BZ,DOT VZOIRRIZT ?
a) Sor b) xodne3 C) [EOVAD d) e
4. What causes human-wildlife conflict ?
a) Increase in forest area b) Decrease in forest area
c) Adequate rainfall d) None of the above
BRTD-TI, B Ncww‘-f F0ETIE ?
a) ©oey, %ES 09, B b) &3, ©[,3e3TY wed
C) AT, WYTRTLTYT2 d) R0eOI SInFEe B8
5. Biodiesel is obtained from
a) Coconut b) Jatropha c) Jackfruit d) Neem
B8 BT CINPYTO0T TECHTRMIZT 2
) SoNS F20W b) muR ez ) C) JLW d) 3
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6. Salumarada Thimmakka is known for

10.

a) Women empowerment
¢) Tree planting

POOTTT SRFF TIX 0F TATTNG ?

a) F&% FWIFT
C) =TT, WISROFT

. Air pollution causes

a) Growth in plants
c¢) Respiratory problems

2500300 BRIT,H) CRPTI, 0630 BRWIZT ?

a) AR,NY dozmednt
C) VATHVT BROTWINEL

a) Carbohydrates
c¢) Cholesterol

-4

[N

b) Organic farming
d) None of these

b) Zozols LN
d) odnRTe &

b) Good weather
d) None of the above

b) V8= TR
d) S0edT anPTER e

. The following gets deposited in the arteries and causes heart ailments

b) Proteins
d) None of the above

TEIFNTY, BT BHNLDR)TOOT T, FoL0R TOWS WA

a) PURFHT, e
C) 8RLZTICS

What type of waste can be composted ?

a) Glass
c) Vegetable peels

O30T D20 B, I, 18T TRBUIBOT ?

a) Mo
C) STTOO ATMLL

COD refers to
a) Chemical Oxygen Demand
¢) Chlorine Oxygen Demand

b) =/p cedes
d) RoedT cRPTe @

b) Plastic
d) None of the above

q

AT
*OR CARYTR 8

b) ¢
d)

8

b) Biochemical Oxygen Demand
d) Cadmium Oxygen Demand

b) wdReETs Bins' AunoT

:l.-‘\ ) £.0.9 m_) - Oy —'
d) 5.80300 B3RS FTROF

- 2 -
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11. Forest (Conservation) Act

a) 1970 b) 1980 c) 1990 d) 2000

00, (ROTET) Fo000T

a) 1970 b) 1980 ¢) 1990 d) 2000
12. Chernobyl! accident is a

a) Dam explosion b) Soil pollution

¢) Noise poliution d) Nuclear disaster

WIAREFWS® BTTOSR) WO

a) és"”?ﬁ% 23@5&5 b) mrg;g SRIT,

C) 3w SN, d) RI=oee0 TOTeE
13. Which of the following is a non-renewable source of energy ?

a) Solar Energy b) Nuclear Energy

¢) Wind Energy d) Geothermal Energy

IFNSINTY, YT INEFORTNT FIR NTTTE ?

a) IV TS b) TTRRew T8

C) III B d) PRIT T8
14. Pulse Polio Immunization Programme was launched in India in

a) 1990 b) 1980 c) 1995 d) 2000

B Fpedadee ©F F00FEROTIY, WTITY, 0N 30T BRF

a) 1990 b) 1980 c) 1995 d) 2000
15. The most abundant gas in the environment is

a) Nitrogen b) Argon ¢) Helium d) Oxygen

TTORTTE, B, T,TNROETY, BT €L

a) ToxI3 b) smfFs c) %edodo d) sxSs
16. Bones are affected by

a) Fluorine b) lodine c) Bromine d) Chlorine

ol Boed A ToFRO WIS

a) RO b) »clrels c) Wpeost d) &2s0T
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17. Montreal Protocol was signed in which year ?

18.

19.

20.

2.

22.

a) 1980 b) 1987 c) 1978 d) 1988
SI08, 0000 T, CEIRETIR), 0ARE BRF T, o WREOWT ?

a) 1980 b) 1987 c) 1978 d) 1986
Which gases are responsible for global warming ?

a) Noble gases b) Inert gases

c) Greenhouse gases d) Radioactive gases

03N SONED TINST TOTTINS DOBN FToTEITONT 9

a) YUTPS BAVN b) =& eensh

C) DATOROD WIONT d) Q3TEde LRON

Forest Conservation Act was enacted in the year

a) 1981 b) 1983 c) 1982 d) 1980
©0e3;, BT D T203 00T CIRE BRETY, WONRYITIC ?

a) 1981 b) 1983 c) 1982 d) 1980
Minamata disease is caused due to

a) Lead b) Chromium c) Arsenic d) Mercury
QIR BREMEy) 0330 FOTEIR0TON LVOERNIBT ?

a) A% b) 3,000 C) ST d) SwTE

Malaria is caused due to

a) Taenia b) Plasmodium c) Streptococcus d) Salmonella
RoSe0TR BWOT WITT
a) eoim b) smpAReR0 C) RFRERETT d) TIeFeR

Polio is caused by
a) Fungi b) Bacteria c) Protozoa d) Virus
ZPeDO3Re YLOERMITT CINT)TO0T ?

a) 39ecy, b) 23,3¢000R c) apctdnednm d) I0%°
o oed = 4
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23. Chemical commonly used to adulterate turmeric is
a) Cadmium chloride b) Lead chromate
¢) Mercuric chloride d) Copper sulphate
S05TT 3T BRELY WRRT, TN UBCIRENTT ToRROILE T
a) ,30Wc 3T T b) xexT &, cedees
C) TRTTIT IRB T d) 293, AS et
24. Chlorination of water is done for
a) Decrease oxygen b) Increase oxygen
¢) Disinfection d) None of the above
2e0T 3R LOVETTEINOTONIT TOFR
a) SRMETIT 3R b) &eRTTE BUY
C) BrRemeen RERFOI d) R0 oINRTR B,
25. Disease affecting the respiratory tract
a) Influenza b) Polyps
c) Rabies d) None of the above
TETYE B0TT BREOW deen
a) aa'gERedoR b) @E@ﬁ;ﬂ
c) Jewexs d) S0edT YT B
26. Insulin is secreted by
a) Spleen b) Liver
c) Pancreas d) Thyroid
2R OT TRLREFIT, FARR NR,0000 T
- ES
a) Y b) Rz &
c) Soedrenieds noR d) @ oeedr
27. Thickness of ozone layer is measured using unit.
a) Joule b) Dobson c) Decibel d) Newton
LBIRET BEIT TTIN) CINT IRTETF) WIREROR LIoLRMOIA 2
a) B b) = C) Bawes d) S nT
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28. Fluoride pollution mainly affects

28,

30.

31.

32.

33.

a) Teeth b) Heart c¢) Brain d) Kidney
TRET, T 08,8 0T 2,808 TOFTRD WeTOT BeBT Won AR ?
a) ™. b) a%ﬁyuo C) RoTOL d) SoR3,w0E
Largest ecosystems of the world are
a) Oceans b) Forests c) Rivers d) Grasslands
T, TowT $é TRT TOTT 5% CIRIT ?
a) TMonw b) m,'m C) SQn d) ToLRMIT
The vector for transmission of malaria
a) Male housefly b) Male anopheles mosquito
c) Female anopheles mosquito d) Female housefly
mﬂff}m G.J:.-\.:‘]jc.o Lﬂd@j %
a) nor R b) Ro> smedx* A%
c) mf’* CLOF A% d) @ea SR
Which one of the following is a result of overpopulation ?
a) Water shortage b) Increase in rainfall
¢) Increase in forest cover d) None of the above
FPNTDNTE) CINJ T EHT xTR0a5. 0L FOT0TTNT ?
a) eoT LT b) &FoNG Fs¥
C) 90, 0BT LY d) 00T conan =

Chipko Movement started in

a) Uttarakhand b) Tamil Nadu
c) Karnataka d) Goa

30T BT 28 TR, TOLITHOWES 7

a) NITDR b) Saodomes
C) Fmrug d) Aees

How many goals are adopted to achieve Sustainable Development ?
a) 10 b) 17 g) 15 d) 20

— poal e O s mes e Comgan m e e O e P et Ly -
"\}..d“vu e A b i T AL b i T 00 YA ATLRE TNt ?
-

- e i -

a) 10 b) 17 c) 15 d) 20

2
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34. New species entering a geographical area is called as

35.

a) Endangered species
c) Exotic species

b) Pandemic species
d) Endemic species

20T PR T, 0TI, By FedROT TR 923160 2

a) SIVLTOWTYTORT T, eTned
C) LOTL3 280D FyIedned

b) 005,808 WadoN T WeTAL
d) ﬁ;?eoda 2303 T, WeTNSL

India’s maximum energy needs are met through

a) Wind energy
c) Solar energy

b) Geothermal energy
d) Fossil fuels

PUST MOF 360D BNE,NYRY CSRRYTT SopvE FRYRTIZ @92

a) T3 38

) .AJ“ "

b) GRZDT I
d) Bc30vEeD [OFS

36. Vitamin C deficiency results in

a) Anemia b) Beriberi ¢) Kwashiorkor d) Scurvy

BEDTE -4 CD £nTZ00T WIDT TReN

a) SREOOD b) 230230 C) TDAIREFT’ d) Zeoe
37. Which of the following is a secondary air poilutant ?

a) SO, b) CO c) PAN d) NO,

FENTPYNTY_ IR chm: EvD 5203 ?

a) SO, b) CO c) PAN d) NO,
38. Deforestation is caused due to

a) Natural activities
¢) Both (a) and (b)

== o, —— Y
WLALT Ao b

s T
- v

cil. (,ui_

I

o s 2ad e W |

c) (a) ne (b) T=E=

b) Human activities
d) None of the above
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39. HIV is transmitted through

a) Drug abuse b) STD

c) Blood transfusion d) Al of the above
DF. .. BORXFN FTEAND

a) [IRTT TS b) o%F.83.8.

c) TEmd d) 003 e,

40. The best preventive measure against oral cancer is

a) Drinking clean water b) Control of tobacco consumption

c) Reducing alcohol consumption d) Dietary modification
2300 Raga;daigl clelovebrnt miod) ATD
a) a‘ozgg QeT), BRAINTTO b) 30w FeTI 3R
C) =0T 36 d) &0 ﬁa‘@é WRRIH
41. Pacific, Atlantic, Indian are examples of
a) Deserts b) Oceans
c) Grasslands d) Tropical rainforest
TAGT, BEROLT, LTS (QORODT') VRN CINFTE, QVTHHTE ?
a) WOTOLRNIMD b) mnonsd
C) TOLRMORLONTO d) w%ﬁocﬁaw WOFTOTOMD
42. Cauvery river originates in
a) Tamil Nadu b) Andhra c) Karnataka d) Kerala
T30 00D evn=D naw_ﬁ
a) ST b) ©og, C) TTOFLT d) $e3¢

43. Which pollution causes hearing loss in humans ?
a) Water pollution b) Air pollution
¢) Soil pollution d) Noise pollution
030%8 BRI BRITIY, 3,70 TRRATT) YUotTRETT 9
a) %S INO, b) =ecdn SRS,

C) RIS IR, d) 2w SRO3
) -

o by MV\_)?J\
(] H
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44. Which of the following causes soil pollution ?

a) Chemical fertilizers b) Acid rain
¢) Chemical pesticides d) All of the above
FINTRNSE, cdnzzd mﬁs m&; 'ﬁ F0eRNIZT 7
a) ToZoRE dﬁr’mwdﬂ@o b) e:r:i; Vo
C) Tomodus aeuuusﬁﬂw d) 30003 Q0T
45. Endemism is a characteristic of
a) Bird Sanctuaries b) Wildlife Sanctuaries
¢) National Parks d) Hotspots of Biodiversity
:é@eobmcs (0TXC) CIRTYTT oimmﬁd ?
a) 8GN b) S, 28ecs ©LICURTE,TIFO
c) TR0 emaajari% d) 226335 T, T3 S, TN

46. 3R refers to
a) Reduction, Reuse, Recycle
b) Regeneration, Reproduction, Reuses
c) Reduce, Reuse, Recycle
d) Reproduction, Reduce, Reuse

30° Q0TT
a) 0weT, O OChRT, DRT
b) OwRTeTT, O, BT, DORTE
C) JBR,A*, DORF, Oﬁg 1ol
d) o3 aew , SRR, DONRF

47. Water (Prevention and Control of Pollution) Act

a) 1974 b) 1986 c) 1980 d) 1970
2000 (BRI, uwm;;wﬁ =02 QO30T £9) ploveIal
a) 1974 b) 1986 c) 1980 d) 1970
48. Environment (Protection) Act was enacted in the year
a) 1986 b) 1991 c) 1980 d) 1981
TOXT (RCTEER) P:J;-:D'c"‘ CInT IRFTY, WON ITTRCWL ?
a) 1986 ~ b) 1991 o cfe80 d) 1981 _

SPACE FOR ROUGH WORK
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49. Which micronutrient is essential for plant growth ?

a) Potassium b) Nitrogen ¢) Phosphorus d) Zinc

qX, W3gmednin cdns mg i TPCRTOTNY Eﬁﬁéﬂaﬁ 9

a) ot d0D0 (WeD) b) zowI c) Sowd d) TD
50. Black lung disease is an occupational hazard due to mining of

a) Copper mining b) Lead mining

c) Iron ore mining d) Coal mining

RTR,NT STODTIT 3T, TIEREB BOVSI0 BT, NEIMOT TREIYTOLT
AloVr: 1o

a) IR, T Ne3MdT b) 2633 RedmoF
C) VT WQOS NEIMo0T d) 3QTIT Nedmos
51. Which substance causes ozone layer depletion ?
a) Chloro fluoro carbon b) Carbon fluoro chlorine
c¢) Carbon dioxide d) Nitrogen oxide
03T BRI WedRed® TTTT TSI TN ?
a) 3redee FRBRE WS b) Swra® Fpedee ERed*
C) voeoB FuE & d) Jp s’ o &

52. Following is not an animal protein

a) Soyabean b) Milk ¢) Egg d) Meat

QT T, I, TP, 3R &

a) ARecIRWeS b) @O0 c) dee d) =ov0%
53. India ranks in world population.

a) 2 b) 3 c) 4 d) 1

2T, mﬁﬁcaﬁcﬁo@mw:i m}ﬁuﬂﬁc

a) 2 b) 3 | c) 4 d) 1
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54. Study of skin is termed as
a) Anatomy
c) Etiology
RO TIN, U5, 0DIE &
a) LoD
) JeatalovInonty

eﬁagtagd

Landslides are caused due to
a) Deforestation in hills

c¢) Both (a) and (b)
LIRBORIN DF GVOLPNIBE ?
a) WYY, BORE

C) (a) @R (b) AT@R

b5,

QP - 536
b) Dermatology
d) Pathology

b) @=OFEnwe
d) Jceeens

b) House construction in hills
d) None of the above

b) ejagdﬁ%* e TJoR ABT]F LD
d) SoedI adRFTL GO,

56. The disease caused by nitrate deficiency
a) Blue baby syndrome b) Fluorosis
c) AIDS d) None of the above
&84, et 3eT3000T WIE dnen
) 2219, 2020 R0TER, 830 b) R deeaz
c) s;;cs: d) 003 ABRPTL B
57. Ramsar Convention is related to
a) Forests b) Wetlands c) Rivers d) Oceans
T TR e35y FFNT CIRFYTE BOWORAT ?
a) BN b) ==ro w)cﬁwma c) IR d) Zononsd
58. Producers are also known as
a) Decomposers b) Heterotrophs
c¢) Autotrophs d) Saprotrophs
J“..C?Ejﬁd &JOSJ 56@3@6.
a) ez 1e%) b) Tesein, i
c) otdnetin g’ d) =, 3R, e, ¢
59. Region were the river meets the sea
a) Shore b) Delta c) Ecotone d) Estuary
TR0T, TN IO FeTOSI RN
a) 3reo’ b) de2, c) sdpeaine d) 2300

SPACE FOR ROUGH WORK
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60. Where is Sundarbans National Park 7
a) Karnataka b) Gujaral
¢) Madhya Pradesh d) West Bengal
FOOTTWS' Todradd VT, BWE WO T 9
~ o J
a) FooF Ly b) nyuoos
c) mqﬁﬂadw d) ?fuj_;i) Loy

61. Which of the following is a vector borne disease ?

a) Cancer b) Tetanus c) Dengue
33 FPBOWRNTE), CINFYTO BELNYOT TTWIT TREN ?
a) ®,3T° b) m&deF oD c) tonim,
62. International Yoga Day
a) 21t May b) 218! June
c) 5% June d) 218! September
6036{3:)&&60&3 odnen O
a) 21 oe b) 21 wRT®
C) 5 wRT® d) 21 B 0wt
63. Oy stands for
a) Ozone b) Oxide c) Oxygen
tuy (O5) 0% Tpeor BT
a) beipes® b) <8 & c) w8’

64. Deficiency of vitamins and minerals leads to

a) Tuberculosis b) Obesity c¢) Thyroidism

DEIENT ToNR DIWO03NY TS0 TOTHIRD

a) godeen b) =R eF0WH C) G000
65. Human health depends on N

a) Mind and exercise b) Nutrition

c) Heredity and environment d) All of the above

BRTRT TR D) DRNTI, BWOOWATITT

a) WOTRO T 539, IR b) TPauF0TNRD

C) ©ToBeODT TV WoTHTE d) S0 2

SPACE FOR ROUGH WORK
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d) Diabetes

d) Nitrogen
d) 3R e

d) Malnutrition
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66. Which of the following are threats to biodiversity ?

a) Poaching b) Invasive species

c) Deforestation d) All of the above

T FINIYNYE) IR 263 A ﬁ &0 00INT ?

a) VIR b) es8,eadee T LeTnv
C) ©0e,To3 d) F0edT D

67. What are the causes of soil erosion ?

a) Deforestation b) Overgrazing

¢) Mining d) All of the above
WIHIF ADITF TTINTEO 9

a) ejo‘raé P b) 803N T[T FECLTTL
C) Medod d) SoeIT QP

68. Study of birds is known as
a) Palaenology b) Entomology c) Herpetology d) Ornithology

T 53, oA, Do FeHELIS ?

a) =, Ten b) dee3zox C) DartRU d) TS
69. The least preferred technique in disposal of municipal solid waste is

a) Incineration b) Landfilling

c) Composting d) Vermicomposting

DTIID P, %, T DO, FOF ST 0L V5T

a) PR eTTED b) w0 e

c) WIRPWT d) 255w
70. Ozone layer is present in

a) Stratosphere b) Mesosphere

¢) Troposphere d) lonosphere

39N oINS TTTFQ, LordeeT QTS ?

a) TR T b) Qoepex 00T

c) :3’;: cFper T d) ScHARLRDT
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